
Weiteres Zubehör
Other spare parts 

Lager

5200 0042 Nadellager HK 12–12

5200 0041  Nadellager HK 12–14

5200 0040  Nadellager HK 15–16

5200 0044  Kugellager 6001

5200 0045  Kugellager 6001/2 RS

5200 0046  Kugellager 6002

5200 0047 Kugellager 6002/2 RS

U-Scheiben  

verzinkt

5200 0086 20/13 Ø x 2,0 mm

5200 0087  24/13 Ø x 1,0 mm

5200 0088  24/13 Ø x 2,0 mm

5200 0089  24/13 Ø x 2,5 mm

5200 0090  20/14 Ø x 0,5 mm

5200 0093 22/16 Ø x 1,0 mm

5200 0092  26/16 Ø x 0,5 mm

5200 0091 26/16 Ø x 1,0 mm

5200 0060  Selbstsichernde 

 Mutter M 12, 

 verzinkt, DIN 985

Kunststoff

9200 0095 26/16,5 Ø x 1,0 mm

VA

5300 3914  Selbstsichernde Mutter M 12, VA, DIN 985

9200 0615 22/16 Ø x 0,5 mm

9200 0616 22/16 Ø x 1,0 mm

Schmiernippel

5200 0080  Trichter-Schmiernippel D1A 6 mm Ø, DIN 3405

Bearings

5200 0042 needle bearings HK 12–12

5200 0041  needle bearings HK 12–14

5200 0040  needle bearings HK 15–16

5200 0044  ball bearings 6001

5200 0045  ball bearings 6001/2 RS

5200 0046  ball bearings 6002

5200 0047 ball bearings 6002/2 RS

Washers  

galvanized

5200 0086 20/13 Ø x 2.0 mm

5200 0087  24/13 Ø x 1.0 mm

5200 0088  24/13 Ø x 2.0 mm

5200 0089  24/13 Ø x 2.5 mm

5200 0090  20/14 Ø x 0.5 mm

5200 0093 22/16 Ø x 1.0 mm

5200 0092  26/16 Ø x 0.5 mm

5200 0091 26/16 Ø x 1.0 mm

5200 0060  Self-locking nut M 12, 

 galvanized, DIN 985

Kunststoff

9200 0095 26/16,5 Ø x 1,0 mm

Stainless steel

5300 3914  Self-locking nut M 12, galvanized, DIN 985

9200 0615 22/16 Ø x 0,5 mm

9200 0616 22/16 Ø x 1,0 mm

Grease nipple

5200 0080  Funnel-type lubricating nipple D1A 6 mm Ø, DIN 3405

mm

 mm

 mm

 mm

 mm

mm

 mm

mm

de 

985

0 mm

52


